#### Contract

This public works contract ("Contract") is entered into by and between Town of Los Gatos ("Town") and O'Grady Paving, Inc. ("Contractor"), for work on the 2025 Street Repair and Resurfacing Project (CIP No. 811-9901) ("Project").

The parties agree as follows:

- **1. Award of Contract.** In response to the Notice Inviting Bids, Contractor has submitted a Bid Proposal to perform the Work to construct the Project. On May 20, 2025, Town authorized award of this Contract to Contractor for the amount set forth in Section 4, below.
- 2. Contract Documents. The Contract Documents incorporated into this Contract include and are comprised of all of the documents listed below. The definitions provided in Article 1 of the General Conditions apply to all of the Contract Documents, including this Contract.
  - **2.1** Notice Inviting Bids;
  - **2.2** Instructions to Bidders;
  - **2.3** Addenda, if any;
  - **2.4** Bid Proposal and attachments thereto;
  - **2.5** Contract;
  - **2.6** Payment and Performance Bonds;
  - **2.7** General Conditions:
  - **2.8** Special Conditions;
  - **2.9** Project Plans and Specifications;
  - 2.10 Change Orders, if any;
  - **2.11** Notice of Potential Award;
  - **2.12** Notice to Proceed; and
  - **2.13** The following: no other documentation
- 3. Contractor's Obligations. Contractor will perform all of the Work required for the Project, as specified in the Contract Documents. Contractor must provide, furnish, and supply all things necessary and incidental for the timely performance and completion of the Work, including all necessary labor, materials, supplies, tools, equipment, transportation, onsite facilities, and utilities, unless otherwise specified in the Contract Documents. Contractor must use its best efforts to diligently prosecute and complete the Work in a professional and expeditious manner and to meet or exceed the performance standards required by the Contract Documents.

- **4. Payment.** As full and complete compensation for Contractor's timely performance and completion of the Work in strict accordance with the terms and conditions of the Contract Documents, Town will pay Contractor \$1,713,071 ("Contract Price") for all of Contractor's direct and indirect costs to perform the Work, including all labor, materials, supplies, equipment, taxes, insurance, bonds and all overhead costs, in accordance with the payment provisions in the General Conditions.
- **5. Time for Completion.** Contractor will fully complete the Work for the Project, meeting all requirements for Final Completion, within 72 calendar days from the start date set forth in the Notice to Proceed ("Contract Time"). By signing below, Contractor expressly waives any claim for delayed early completion.
- **6. Liquidated Damages.** As further specified in Section 5.4 of the General Conditions, if Contractor fails to complete the Work within the Contract Time, Town will assess liquidated damages in the amount of \$9,000 per day for each day of unexcused delay in achieving Final Completion, and such liquidated damages may be deducted from Town's payments due or to become due to Contractor under this Contract.

# 7. Labor Code Compliance.

- **7.1 General.** This Contract is subject to all applicable requirements of Chapter 1 of Part 7 of Division 2 of the Labor Code, including requirements pertaining to wages, working hours and workers' compensation insurance, as further specified in Article 9 of the General Conditions.
- **7.2 Prevailing Wages.** This Project is subject to the prevailing wage requirements applicable to the locality in which the Work is to be performed for each craft, classification or type of worker needed to perform the Work, including employer payments for health and welfare, pension, vacation, apprenticeship and similar purposes. Copies of these prevailing rates are available online at <a href="http://www.dir.ca.gov/DLSR">http://www.dir.ca.gov/DLSR</a>.
- **7.3 DIR Registration.** Town may not enter into the Contract with a bidder without proof that the bidder and its Subcontractors are registered with the California Department of Industrial Relations to perform public work pursuant to Labor Code § 1725.5, subject to limited legal exceptions.
- 8. Workers' Compensation Certification. Pursuant to Labor Code § 1861, by signing this Contract, Contractor certifies as follows: "I am aware of the provisions of Labor Code § 3700 which require every employer to be insured against liability for workers' compensation or to undertake self-insurance in accordance with the provisions of that code, and I will comply with such provisions before commencing the performance of the Work on this Contract."

- 9. Conflicts of Interest. Contractor, its employees, Subcontractors, and agents may not have, maintain, or acquire a conflict of interest in relation to this Contract in violation of any Town ordinance or requirement, or in violation of any California law, including Government Code § 1090 et seq., or the Political Reform Act, as set forth in Government Code § 81000 et seq. and its accompanying regulations. Any violation of this Section constitutes a material breach of the Contract.
- 10. Independent Contractor. Contractor is an independent contractor under this Contract and will have control of the Work and the means and methods by which it is performed. Contractor and its Subcontractors are not employees of Town and are not entitled to participate in any health, retirement, or any other employee benefits from Town.
- 11. Notice. Any notice, billing, or payment required by or pursuant to the Contract Documents must be made in writing, signed, dated, and sent to the other party by personal delivery, U.S. Mail, a reliable overnight delivery service, or by email as a PDF file. Notice is deemed effective upon delivery, except that service by U.S. Mail is deemed effective on the second working day after deposit for delivery. Notice for each party must be given as follows:

## Town:

# **Notices:**

Town of Los Gatos Attn: Town Clerk 110 E. Main Street Los Gatos, CA 95030

#### Invoices:

Town of Los Gatos Attn: Accounts Payable

P.O. Box 655

Los Gatos, CA 95031-0655

Email (preferred): AP@losgatosca.gov

## **Contractor:**

Name: O'Grady Paving, Inc. Address: 2513 Wyandotte St

City/State/Zip: Mountain View, CA 94043-2314

Phone: 650-966-1926 Attn: Craig Young

Email: <a href="mailto:craig@ogradypaving.com">craig@ogradypaving.com</a>

## 12. General Provisions.

- **12.1 Assignment and Successors.** Contractor may not assign its rights or obligations under this Contract, in part or in whole, without Town's written consent. This Contract is binding on Contractor's and Town's lawful heirs, successors and permitted assigns.
- **12.2 Third Party Beneficiaries.** There are no intended third party beneficiaries to this Contract.
- 12.3 Governing Law and Venue. This Contract will be governed by California law and venue will be in the Santa Clara County Superior Court, and no other place. Contractor waives any right it may have pursuant to Code of Civil Procedure § 394, to file a motion to transfer any action arising from or relating to this Contract to a venue outside of Santa Clara County, California.
- **12.4 Amendment.** No amendment or modification of this Contract will be binding unless it is in a writing duly authorized and signed by the parties to this Contract.
- **12.5 Integration.** This Contract and the Contract Documents incorporated herein, including authorized amendments or Change Orders thereto, constitute the final, complete, and exclusive terms of the agreement between Town and Contractor.
- **12.6 Severability.** If any provision of the Contract Documents is determined to be illegal, invalid, or unenforceable, in whole or in part, the remaining provisions of the Contract Documents will remain in full force and effect.
- 12.7 Iran Contracting Act. If the Contract Price exceeds \$1,000,000, Contractor certifies, by signing below, that it is not identified on a list created under the Iran Contracting Act, Public Contract Code § 2200 et seq. (the "Act"), as a person engaging in investment activities in Iran, as defined in the Act, or is otherwise expressly exempt under the Act.
- **12.8 Authorization.** Each individual signing below warrants that he or she is authorized to do so by the party that he or she represents, and that this Contract is legally binding on that party. If Contractor is a corporation, signatures from two officers of the corporation are required pursuant to California Corporations Code § 313.

[Signatures are on the following page.]

The parties agree to this Contract as witnessed by the signatures below:

TOWN:	Approved as to form:
s/ Chris Constantin, Town Manager	s/ Gabrielle, Whelan, Town Attorney
Date:	Date:
Attest:	
s/ Wendy Wood, CMC, Town Clerk	<u>.</u>
Date:	
CONTRACTOR: O'Grady Paving, Inc.	
s/	Seal:
Craig E. Young, Vice President	
Date:	_

**END OF CONTRACT** 

# **Payment Bond**

<	> ("Town") and
("Co	ntractor") have entered into a contract for work on the
<	> Project ("Project"). The
Cont	tract is incorporated by reference into this Payment Bond ("Bond").
1.	General. Under this Bond, Contractor as principal and, its surety ("Surety"), are bound to Town as obligee in an amount not less than \$, under California Civil Code § 9550 et seq., to ensure payment to authorized claimants. This Bond is binding on the respective successors, assigns, owners, heirs, or executors of Surety and Contractor.
2.	<b>Surety's Obligation.</b> If Contractor or any of its Subcontractors fails to pay a person authorized in California Civil Code § 9100 to assert a claim against a payment bond, any amounts due under the Unemployment Insurance Code with respect to work or labor performed under the Contract, or any amounts required to be deducted, withheld, and paid over to the Employment Development Department from the wages of employees of Contractor and its Subcontractors under California Unemployment Insurance Code § 13020 with respect to the work and labor, then Surety will pay the obligation.
3.	<b>Beneficiaries.</b> This Bond inures to the benefit of any of the persons named in California Civil Code § 9100, so as to give a right of action to those persons or their assigns in any suit brought upon this Bond. Contractor must promptly provide a copy of this Bond upon request by any person with legal rights under this Bond.
4.	<b>Duration.</b> If Contractor promptly makes payment of all sums for all labor, materials, and equipment furnished for use in the performance of the Work required by the Contract, in conformance with the time requirements set forth in the Contract and as required by California law, Surety's obligations under this Bond will be null and void. Otherwise, Surety's obligations will remain in full force and effect.
5.	<b>Waivers.</b> Surety waives any requirement to be notified of alterations to the Contract or extensions of time for performance of the Work under the Contract. Surety waives the provisions of Civil Code §§ 2819 and 2845. Town waives the requirement of a new bond for any supplemental contract under Civil Code § 9550. Any notice to Surety may be given in the manner specified in the Contract and sent to Surety as follows:
	Attn:

	Address:	_
	City/State/Zip:	_
	Phone:	_
	Email:	_
6.	Law and Venue. This Bond will be governed by California law, and v	venue for any
	dispute pursuant to this Bond will be in the <>	> County
	Superior Court, and no other place. Surety will be responsible for To	wn's
	attorneys' fees and costs in any action to enforce the provisions of t	his Bond.
	[Signatures are on the following page.]	

	ective Date; Execution. This Bond i , 20	s entered into and is effective on
SURETY:		
Business	Name	
s/		
		Date
Name, Tit	:le	
(Attach A	cknowledgment with Notary Seal a	nd Power of Attorney)
CONTRAC	CTOR:	
Business	Name	
s/		
		Date
Name, Tit	ile	
APPROVE	ED BY TOWN:	
s/		
		Date
Chris Con	stantin, Town Manager	

**END OF PAYMENT BOND** 

### **Performance Bond**

<	> ("Town") and
	("Contractor") have entered into a contract for
worl	on the <> Project
("Pro	ect"). The Contract is incorporated by reference into this Performance Bond
("Bo	1").
1.	General. Under this Bond, Contractor as principal and
	, its surety ("Surety"), are bound to Town as
	obligee for an amount not less than \$ to ensure Contractor's
	aithful performance of its obligations under the Contract. This Bond is binding on
	he respective successors, assigns, owners, heirs, or executors of Surety and
	Contractor

- 2. Surety's Obligations. Surety's obligations are co-extensive with Contractor's obligations under the Contract. If Contractor fully performs its obligations under the Contract, including its warranty obligations under the Contract, Surety's obligations under this Bond will become null and void. Otherwise, Surety's obligations will remain in full force and effect.
- **3. Waiver.** Surety waives any requirement to be notified of and further consents to any alterations to the Contract made under the applicable provisions of the Contract Documents, including changes to the scope of Work or extensions of time for performance of Work under the Contract. Surety waives the provisions of Civil Code §§ 2819 and 2845.
- 4. Application of Contract Balance. Upon making a demand on this Bond for completion of the Work prior to acceptance of the Project, Town will make the Contract Balance available to Surety for completion of the Work under the Contract. For purposes of this provision, the Contract Balance is defined as the total amount payable by Town to Contractor as the Contract Price minus amounts already paid to Contractor, and minus any liquidated damages, credits, or backcharges to which Town is entitled under the terms of the Contract.
- **5. Contractor Default.** Upon written notification from Town of Contractor's termination for default under Article 13 of the Contract General Conditions, time being of the essence, Surety must act within the time specified in Article 13 to remedy the default through one of the following courses of action:
  - Arrange for completion of the Work under the Contract by Contractor, with Town's consent, but only if Contractor is in default solely due to its financial inability to complete the Work;

- Arrange for completion of the Work under the Contract by a qualified contractor acceptable to Town, and secured by performance and payment bonds issued by an admitted surety as required by the Contract Documents, at Surety's expense; or
- 5.3 Waive its right to complete the Work under the Contract and reimburse Town the amount of Town's costs to have the remaining Work completed.
- **6. Surety Default.** If Surety defaults on its obligations under the Bond, Town will be entitled to recover all costs it incurs due to Surety's default, including legal, design professional, or delay costs.
- 7. **Notice.** Any notice to Surety may be given in the manner specified in the Contract and sent to Surety as follows: Attn: \_\_\_\_\_ Address: \_\_\_\_\_ City/State/Zip: Email: 8. Law and Venue. This Bond will be governed by California law, and venue for any dispute pursuant to this Bond will be in the <\_\_\_\_\_> County Superior Court, and no other place. Surety will be responsible for Town's attorneys' fees and costs in any action to enforce the provisions of this Bond. 9. **Effective Date: Execution.** This Bond is entered into and effective on \_\_\_\_\_, 20\_\_\_. SURETY: **Business Name** Date Name, Title

(Attach Acknowledgment with Notary Seal and Power of Attorney)

CONTRACTOR:		
Business Name		
s/	<del></del> -	
	Date	
Name, Title		
APPROVED BY TWON:		
s/		
	Date —_	
Chris Constantin, Town Manager		

END OF PERFORMANCE BOND

Line Item	Description	Quantity Unit of Measure	Unit Cost	Total	
	1 Traffic Control	1 L.S.		\$105,000.00	\$105,000.0
	2 Adjust Storm Manhole to Grade	30 Ea.		\$800.00	\$24,000.0
	3 Adjust Sanitary Sewer Manhole to Grade	63 Ea.		\$800.00	\$50,400.0
	4 Adjust Survey Monument Cover to Grade	59 Ea.		\$600.00	\$35,400.0
	5 Adjust Gas Valve to Grade (Revocable)	1 Ea.		\$600.00	\$600.0
	6 Adjust Water Meter Box to Grade (Revocable)	1 Ea.		\$600.00	\$600.
	7 Install New Monument Lid G-5 Christy Box	2 Ea.		\$1,000.00	\$2,000.0
	8 2" Depth Dig Outs	20400 S.F.		\$3.45	\$70,380.0
	9 4" Depth Dig Outs	1850 S.F.		\$6.80	\$12,580.0
	10 18' Wedge Grind	900 L.F.		\$15.00	\$13,500.0
	11 6' Wedge Grind			\$2.15	
	9	32500 L.F.			\$69,875.0
	12 4' Wedge Grind (Revocable)	500 L.F.		\$1.50	\$750.0
	13 2" Pavement Mill	4300 S.Y.		\$6.50	\$27,950.
	14 2" Hot Mix Asphalt Overlay	7000 Ton		\$135.00	\$945,000.0
	15 Pavement Marker and Striping Removal	1 L.S.		\$40,000.00	\$40,000.
	16 Detail 22 Striping-Thermoplastic	1300 L.F.		\$2.20	\$2,860.0
	17 Detail 39 Striping-Thermoplastic	450 L.F.		\$1.10	\$495.0
	18 Detail 39A Striping-Thermoplastic	250 L.F.		\$1.10	\$275.0
	19 12" Limit Line (Stop Line) (White)-Thermoplastic	440 L.F.		\$5.50	\$2,420.
	20 Crosswalk (White)-Thermoplastic	330 L.F.		\$11.00	\$3,630.0
	21 Crosswalk-TLG Std. TR-I (Yellow)-Thermoplastic	490 L.F.		\$11.00	\$5,390.0
	22 4" Hatch (White)-Thermoplastic	15 L.F.		\$2.20	\$33.0
	23 STOP Legend-Thermoplastic	23 Ea.		\$275.00	\$6,325.0
	24 25 Legend-Thermoplastic	1 Ea.		\$275.00	\$275.0
	25 Sharrow Legend - Thermoplastic	18 Ea.		\$275.00	\$4,950.0
	26 Green Back Bike Lane Symbol with Arrow Legend-TLG Std. TR-A-Thermoplastic	2 Ea.		\$2,300.00	\$4,600.0
	27 Dashed Green Bike Lane - TR-A - Thermoplastic	2 Ea. 90 LF		\$55.00	\$4,950.0
	·				
	28 Red Curb (Revocable)	200 L.F.		\$3.20	\$640.0
	29 Blue Reflective Pavement Marker	36 Ea.		\$5.50	\$198.0
	Total				\$1,435,076.0
dditive Alter		Quantity Unit of Measure	Unit Cost	Total	
ne Item 1.1	Description Traffic Control	Quantity Unit of Measure 1 L.S.	Unit Cost	\$35,000.00	¢3E 000 (
					\$35,000.0
1.2	Adjust Sanitary Sewer Manhole to Grade	4 Ea.		\$800.00	\$3,200.0
1.3	Adjust Survey Monument Cover to Grade	2 Ea.		\$600.00	\$1,200.0
1.4	Adjust Water Valve Cover to Grade	4 Ea.		\$600.00	\$2,400.0
1.5	4" Depth Dig Outs	530 S.F.		\$6.80	\$3,604.0
1.6	6' Wedge Grind	2270 L.F.		\$2.15	\$4,880.5
1.7	18' Wedge Grind	70 L.F.		\$15.00	\$1,050.0
1.8	2" Hot Mix Asphalt Overlay	465 Ton		\$135.00	\$62,775.0
1.9	Pavement Marker and Striping Removal	1 L.S.		\$30,000.00	\$30,000.0
1.10	Detail 22 Striping - Thermoplastic	110 L.F.		\$2.20	\$242.0
1.11	12" Limit Line (Stop Line) (White) - Thermoplastic	44 L.F.		\$5.50	\$242.0
1.12	Crosswalk-TLG Std. TR-I (Yellow)-Thermoplastic	220 L.F.		\$11.00	\$2,420.0
1.13	STOP Legend - Thermoplastic	2 Ea.		\$275.00	\$550.0
1.14	Sharrow Legend - Thermoplastic	5 Ea.		\$275.00	\$1,375.0
1.15	Blue Reflective Pavement Marker (Revocable)	1 Ea.		\$5.50	\$5.5
1.13	Total	1 20.		Ş3.30	\$148,944.0
dditive Alter					Ş140,344.C
ne Item	Description			Total	
		Quantity Unit of Measure	Unit Cost	IUlai	
2.1	Traffic Control	Quantity Unit of Measure 1 L.S.	Unit Cost		\$30,000.0
	Traffic Control	1 L.S.	Unit Cost	\$30,000.00	
2.1 2.2 2.3	Traffic Control Adjust Survey Monument Cover to Grade	1 L.S. 1 Ea.	Unit Cost	\$30,000.00 \$600.00	\$600.0
2.2 2.3	Traffic Control Adjust Survey Monument Cover to Grade 4" Depth Dig Outs	1 L.S. 1 Ea. 600 S.F.	Unit Cost	\$30,000.00 \$600.00 \$6.80	\$600. \$4,080.
2.2 2.3 2.4	Traffic Control Adjust Survey Monument Cover to Grade 4" Depth Dig Outs 6' Wedge Grind	1 L.S. 1 Ea. 600 S.F. 600 L.F.	Unit Cost	\$30,000.00 \$600.00 \$6.80 \$2.15	\$600. \$4,080. \$1,290.
2.2 2.3 2.4 2.5	Traffic Control Adjust Survey Monument Cover to Grade 4" Depth Dig Outs 6' Wedge Grind Hot Mix Asphalt - Leveling Course	1 L.S. 1 Ea. 600 S.F. 600 L.F. 100 Ton	Unit Cost	\$30,000.00 \$600.00 \$6.80 \$2.15 \$200.00	\$600. \$4,080. \$1,290. \$20,000.
2.2 2.3 2.4 2.5 2.6	Traffic Control Adjust Survey Monument Cover to Grade 4" Depth Dig Outs 6' Wedge Grind Hot Mix Asphalt - Leveling Course 2" Hot Mix Asphalt Overlay	1 L.S. 1 Ea. 600 S.F. 600 L.F. 100 Ton 240 Ton	Unit Cost	\$30,000.00 \$600.00 \$6.80 \$2.15 \$200.00 \$165.00	\$600.\ \$4,080.\ \$1,290.\ \$20,000.\ \$39,600.\
2.2 2.3 2.4 2.5 2.6 2.7	Traffic Control Adjust Survey Monument Cover to Grade 4" Depth Dig Outs 6' Wedge Grind Hot Mix Asphalt - Leveling Course 2" Hot Mix Asphalt Overlay 4" Striping (White) - Thermoplastic	1 L.S. 1 Ea. 600 S.F. 600 L.F. 100 Ton 240 Ton 1550 L.F.	Unit Cost	\$30,000.00 \$600.00 \$6.80 \$2.15 \$200.00 \$165.00 \$2.20	\$600.0 \$4,080.0 \$1,290.0 \$20,000.0 \$39,600.0 \$3,410.0
2.2 2.3 2.4 2.5 2.6 2.7 2.8	Traffic Control Adjust Survey Monument Cover to Grade 4" Depth Dig Outs 6' Wedge Grind Hot Mix Asphalt - Leveling Course 2" Hot Mix Asphalt Overlay 4" Striping (White) - Thermoplastic 4" Hatch (White) - Thermoplastic	1 L.S. 1 Ea. 600 S.F. 600 L.F. 100 Ton 240 Ton 1550 L.F. 20 L.F.	Unit Cost	\$30,000.00 \$600.00 \$6.80 \$2.15 \$200.00 \$165.00 \$2.20 \$2.20	\$600.0 \$4,080.0 \$1,290.0 \$20,000.0 \$39,600.0 \$3,410.0 \$44.0
2.2 2.3 2.4 2.5 2.6 2.7 2.8 2.9	Traffic Control Adjust Survey Monument Cover to Grade 4" Depth Dig Outs 6' Wedge Grind Hot Mix Asphalt - Leveling Course 2" Hot Mix Asphalt Overlay 4" Striping (White) - Thermoplastic 4" Hatch (White) - Thermoplastic Sharrow Legend - Thermoplastic	1 L.S. 1 Ea. 600 S.F. 600 L.F. 100 Ton 240 Ton 1550 L.F. 20 L.F. 32 Ea.	Unit Cost	\$30,000.00 \$600.00 \$6.80 \$2.15 \$200.00 \$165.00 \$2.20 \$2.20 \$275.00	\$600.0 \$4,080.0 \$1,290.0 \$20,000.0 \$39,600.0 \$3,410.0 \$44.0 \$8,800.0
2.2 2.3 2.4 2.5 2.6 2.7 2.8 2.9 2.10	Traffic Control Adjust Survey Monument Cover to Grade 4" Depth Dig Outs 6' Wedge Grind Hot Mix Asphalt - Leveling Course 2" Hot Mix Asphalt Overlay 4" Striping (White) - Thermoplastic 4" Hatch (White) - Thermoplastic 5harrow Legend - Thermoplastic ADA Parking Striping - Caltrans A90A - Thermoplastic	1 L.S. 1 Ea. 600 S.F. 600 L.F. 100 Ton 240 Ton 1550 L.F. 20 L.F. 32 Ea. 1 Ea.	Unit Cost	\$30,000.00 \$600.00 \$6.80 \$2.15 \$200.00 \$165.00 \$2.20 \$2.20 \$275.00 \$550.00	\$600.0 \$4,080.0 \$1,290.0 \$20,000.0 \$39,600.0 \$44.0 \$48,800.0 \$550.0
2.2 2.3 2.4 2.5 2.6 2.7 2.8 2.9	Traffic Control Adjust Survey Monument Cover to Grade 4" Depth Dig Outs 6' Wedge Grind Hot Mix Asphalt - Leveling Course 2" Hot Mix Asphalt Overlay 4" Striping (White) - Thermoplastic 4" Hatch (White) - Thermoplastic Sharrow Legend - Thermoplastic ADA Parking Striping - Caltrans A90A - Thermoplastic Red Curb - Paint	1 L.S. 1 Ea. 600 S.F. 600 L.F. 100 Ton 240 Ton 1550 L.F. 20 L.F. 32 Ea.	Unit Cost	\$30,000.00 \$600.00 \$6.80 \$2.15 \$200.00 \$165.00 \$2.20 \$2.20 \$275.00 \$550.00 \$3.20	\$600.0 \$4,080.0 \$1,290.0 \$20,000.0 \$3,410.0 \$44.0 \$8,800.0 \$550.0 \$96.0
2.2 2.3 2.4 2.5 2.6 2.7 2.8 2.9 2.10	Traffic Control Adjust Survey Monument Cover to Grade 4" Depth Dig Outs 6' Wedge Grind Hot Mix Asphalt - Leveling Course 2" Hot Mix Asphalt Overlay 4" Striping (White) - Thermoplastic 4" Hatch (White) - Thermoplastic 5harrow Legend - Thermoplastic ADA Parking Striping - Caltrans A90A - Thermoplastic	1 L.S. 1 Ea. 600 S.F. 600 L.F. 100 Ton 240 Ton 1550 L.F. 20 L.F. 32 Ea. 1 Ea.	Unit Cost	\$30,000.00 \$600.00 \$6.80 \$2.15 \$200.00 \$165.00 \$2.20 \$2.20 \$275.00 \$550.00	\$600.0 \$4,080.0 \$1,290.0 \$20,000.0 \$3,410.0 \$44.0 \$8,800.0 \$550.0 \$96.0
2.2 2.3 2.4 2.5 2.6 2.7 2.8 2.9 2.10	Traffic Control Adjust Survey Monument Cover to Grade 4" Depth Dig Outs 6' Wedge Grind Hot Mix Asphalt - Leveling Course 2" Hot Mix Asphalt Overlay 4" Striping (White) - Thermoplastic 4" Hatch (White) - Thermoplastic Sharrow Legend - Thermoplastic ADA Parking Striping - Caltrans A90A - Thermoplastic Red Curb - Paint	1 L.S. 1 Ea. 600 S.F. 600 L.F. 100 Ton 240 Ton 1550 L.F. 20 L.F. 32 Ea. 1 Ea. 30 L.F.	Unit Cost	\$30,000.00 \$600.00 \$6.80 \$2.15 \$200.00 \$165.00 \$2.20 \$2.20 \$275.00 \$550.00 \$3.20	\$600.0 \$4,080.0 \$1,290.0 \$20,000.0 \$39,600.0 \$3,410.0 \$44.0 \$550.0 \$96.0 \$132.0
2.2 2.3 2.4 2.5 2.6 2.7 2.8 2.9 2.10 2.11 2.12	Traffic Control Adjust Survey Monument Cover to Grade 4" Depth Dig Outs 6' Wedge Grind Hot Mix Asphalt - Leveling Course 2" Hot Mix Asphalt Overlay 4" Striping (White) - Thermoplastic 4" Hatch (White) - Thermoplastic Sharrow Legend - Thermoplastic ADA Parking Striping - Caltrans A90A - Thermoplastic Red Curb - Paint Detail 22 Striping - Paint	1 L.S. 1 Ea. 600 S.F. 600 L.F. 100 Ton 240 Ton 1550 L.F. 20 L.F. 32 Ea. 1 Ea. 30 L.F. 60 L.F.	Unit Cost	\$30,000.00 \$600.00 \$6.80 \$2.15 \$200.00 \$165.00 \$2.20 \$2.20 \$275.00 \$550.00 \$3.20 \$2.20	\$600.1 \$4,080.1 \$2,0900.1 \$39,600.1 \$44.1 \$8,800.1 \$550.1 \$3,312.1 \$8,305.1
2.2 2.3 2.4 2.5 2.6 2.7 2.8 2.9 2.10 2.11 2.12 2.13	Traffic Control Adjust Survey Monument Cover to Grade 4" Depth Dig Outs 6' Wedge Grind Hot Mix Asphalt - Leveling Course 2" Hot Mix Asphalt Overlay 4" Striping (White) - Thermoplastic 4" Hatch (White) - Thermoplastic Sharrow Legend - Thermoplastic ADA Parking Striping - Caltrans A90A - Thermoplastic Red Curb - Paint Detail 22 Striping - Paint 4" Striping (White)-Paint	1 L.S. 1 Ea. 600 S.F. 600 L.F. 100 Ton 240 Ton 1550 L.F. 20 L.F. 32 Ea. 1 Ea. 30 L.F. 60 L.F. 7550 L.F.	Unit Cost	\$30,000.00 \$600.00 \$6.80 \$2.15 \$200.00 \$165.00 \$2.20 \$2.20 \$275.00 \$550.00 \$3.20 \$2.20 \$1.10	\$600. \$4,080. \$1,290. \$20,000. \$39,600. \$3,410. \$44. \$8,800. \$550. \$96. \$132. \$8,305.
2.2 2.3 2.4 2.5 2.6 2.7 2.8 2.9 2.10 2.11 2.12 2.13 2.14	Traffic Control Adjust Survey Monument Cover to Grade 4" Depth Dig Outs 6' Wedge Grind Hot Mix Asphalt - Leveling Course 2" Hot Mix Asphalt Overlay 4" Striping (White) - Thermoplastic 4" Hatch (White) - Thermoplastic 5harrow Legend - Thermoplastic ADA Parking Striping - Caltrans A90A - Thermoplastic Red Curb - Paint Detail 22 Striping - Paint 4" Striping (White)-Paint ADA Parking Striping - Caltrans A90A - Paint 4" Hatch (White) - Paint	1 L.S. 1 Ea. 600 S.F. 600 L.F. 100 Ton 240 Ton 1550 L.F. 20 L.F. 32 Ea. 1 Ea. 30 L.F. 60 L.F. 7550 L.F. 11 Ea. 240 L.F.	Unit Cost	\$30,000.00 \$600.00 \$6.80 \$2.15 \$200.00 \$165.00 \$2.20 \$2.20 \$275.00 \$550.00 \$3.20 \$2.20 \$1.10 \$110.00 \$1.10	\$600. \$4,080. \$1,290. \$20,000. \$3,410. \$44. \$8,800. \$550. \$96. \$132. \$8,305. \$1,210.
2.2 2.3 2.4 2.5 2.6 2.7 2.8 2.9 2.10 2.11 2.12 2.13 2.14 4.15 2.16	Traffic Control Adjust Survey Monument Cover to Grade 4" Depth Dig Outs 6' Wedge Grind Hot Mix Asphalt - Leveling Course 2" Hot Mix Asphalt Overlay 4" Striping (White) - Thermoplastic 4" Hatch (White) - Thermoplastic Sharrow Legend - Thermoplastic ADA Parking Striping - Caltrans A90A - Thermoplastic Red Curb - Paint Detail 22 Striping - Paint 4" Striping (White)-Paint ADA Parking Striping - Caltrans A90A - Paint 4" Hatch (White) - Paint Type I 18' Arrow Legend - Paint	1 L.S. 1 Ea. 600 S.F. 600 L.F. 100 Ton 240 Ton 1550 L.F. 20 L.F. 32 Ea. 1 Ea. 30 L.F. 60 L.F. 7550 L.F. 11 Ea. 240 L.F.	Unit Cost	\$30,000.00 \$600.00 \$6.80 \$2.15 \$200.00 \$165.00 \$2.20 \$2.20 \$2.20 \$275.00 \$550.00 \$3.20 \$2.20 \$1.10 \$11.00 \$1.10	\$600. \$4,080. \$1,290. \$20,000. \$3,410. \$44. \$8,800. \$550. \$96. \$132. \$8,305. \$1,210. \$264.
2.2 2.3 2.4 2.5 2.6 2.7 2.8 8.9 9 2.10 2.11 2.12 2.13 3.1.14 2.15 2.15	Traffic Control Adjust Survey Monument Cover to Grade 4" Depth Dig Outs 6' Wedge Grind Hot Mix Asphalt - Leveling Course 2" Hot Mix Asphalt Overlay 4" Striping (White) - Thermoplastic 4" Hatch (White) - Thermoplastic Sharrow Legend - Thermoplastic ADA Parking Striping - Caltrans A90A - Thermoplastic Red Curb - Paint Detail 22 Striping - Paint 4" Striping (White)-Paint ADA Parking Striping - Caltrans A90A - Paint 4" Hatch (White) - Paint Type 118' Arrow Legend - Paint Type IV Arrow Legend - Paint	1 L.S. 1 Ea. 600 S.F. 600 L.F. 100 Ton 240 Ton 1550 L.F. 20 L.F. 32 Ea. 1 Ea. 30 L.F. 60 L.F. 7550 L.F. 11 Ea. 240 L.F. 14 Ea. 2 Ea.	Unit Cost	\$30,000.00 \$600.00 \$6.80 \$2.15 \$200.00 \$165.00 \$2.20 \$2.20 \$2.75.00 \$550.00 \$3.20 \$2.20 \$1.10 \$110.00 \$1.10 \$55.00 \$55.00	\$600. \$4,880. \$1,290. \$20,000. \$39,600. \$3,410. \$44.4 \$8,800. \$550. \$966. \$132. \$8,305. \$1,210. \$264. \$770.
2.2 2.3 3.4 4.4 2.5 2.6 2.7 2.8 8.9 9 2.10 2.11 2.13 3.14 4.15 2.16 2.17	Traffic Control Adjust Survey Monument Cover to Grade 4" Depth Dig Outs 6' Wedge Grind Hot Mix Asphalt - Leveling Course 2" Hot Mix Asphalt Overlay 4" Striping (White) - Thermoplastic 4" Hatch (White) - Thermoplastic Sharrow Legend - Thermoplastic ADA Parking Striping - Caltrans A90A - Thermoplastic Red Curb - Paint Detail 22 Striping - Paint 4" Striping (White)-Paint ADA Parking Striping - Caltrans A90A - Paint 4" Hatch (White) - Paint Type I 18' Arrow Legend - Paint Type IV Arrow Legend - Paint Type IV Arrow Legend - Paint	1 L.S. 1 Ea. 600 S.F. 600 L.F. 100 Ton 240 Ton 1550 L.F. 20 L.F. 32 Ea. 1 Ea. 30 L.F. 60 L.F. 7550 L.F. 11 Ea. 240 L.F. 14 Ea. 2 Ea. 2 Ea.	Unit Cost	\$30,000.00 \$600.00 \$6.80 \$2.15 \$200.00 \$165.00 \$2.20 \$2.20 \$275.00 \$550.00 \$3.20 \$2.20 \$1.10 \$110.00 \$1.10 \$55.00 \$55.00	\$600.0 \$4,080.0 \$1,290.0 \$20,000.0 \$3,410.0 \$44.1 \$8,800.0 \$550.0 \$96.0 \$132.1 \$8,305.0 \$770.1 \$110.0 \$110.0 \$110.0 \$110.0 \$110.0
	Traffic Control Adjust Survey Monument Cover to Grade 4" Depth Dig Outs 6' Wedge Grind Hot Mix Asphalt - Leveling Course 2" Hot Mix Asphalt Overlay 4" Striping (White) - Thermoplastic 4" Hatch (White) - Thermoplastic 5harrow Legend - Thermoplastic ADA Parking Striping - Caltrans A90A - Thermoplastic Red Curb - Paint Detail 22 Striping - Paint 4" Striping (White)-Paint ADA Parking Striping - Caltrans A90A - Paint 4" Hatch (White) - Paint Type I 18' Arrow Legend - Paint Type I 18' Arrow Legend - Paint Type I Qegend - Paint STOP Legend - Paint ONLY Legend - Paint	1 L.S. 1 Ea. 600 S.F. 600 L.F. 100 Ton 240 Ton 1550 L.F. 20 L.F. 32 Ea. 1 Ea. 30 L.F. 60 L.F. 7550 L.F. 11 Ea. 240 L.F. 14 Ea. 2 Ea.	Unit Cost	\$30,000.00 \$600.00 \$6.80 \$2.15 \$200.00 \$165.00 \$2.20 \$2.20 \$2.75.00 \$550.00 \$3.20 \$2.20 \$1.10 \$110.00 \$1.10 \$55.00 \$55.00	\$600.1 \$4,080.1 \$1,290.1 \$20,000.1 \$3,410.1 \$44.1 \$8,800.1 \$550.1 \$96.1 \$132.1 \$264.1 \$770.1 \$110.1
2.2 2.3 2.4 2.5 2.6 2.7 2.8 2.9 2.10 2.11 2.13 2.13 2.15 2.15 2.17	Traffic Control Adjust Survey Monument Cover to Grade 4" Depth Dig Outs 6' Wedge Grind Hot Mix Asphalt - Leveling Course 2" Hot Mix Asphalt Overlay 4" Striping (White) - Thermoplastic 4" Hatch (White) - Thermoplastic Sharrow Legend - Thermoplastic ADA Parking Striping - Caltrans A90A - Thermoplastic Red Curb - Paint Detail 22 Striping - Paint 4" Striping (White)-Paint ADA Parking Striping - Caltrans A90A - Paint 4" Hatch (White) - Paint Type I S' Arrow Legend - Paint Type IV Arrow Legend - Paint STOP Legend - Paint STOP Legend - Paint TOtal	1 L.S. 1 Ea. 600 S.F. 600 L.F. 100 Ton 240 Ton 1550 L.F. 20 L.F. 32 Ea. 1 Ea. 30 L.F. 60 L.F. 7550 L.F. 11 Ea. 240 L.F. 14 Ea. 2 Ea. 2 Ea.	Unit Cost	\$30,000.00 \$600.00 \$6.80 \$2.15 \$200.00 \$165.00 \$2.20 \$2.20 \$275.00 \$550.00 \$3.20 \$2.20 \$1.10 \$110.00 \$1.10 \$55.00 \$55.00	\$30,000.0 \$600.0 \$4,080.0 \$1,290.0 \$39,600.0 \$3,410.0 \$44.0 \$8,800.0 \$550.0 \$96.0 \$132.0 \$264.0 \$770.0 \$110.0 \$110.0 \$110.0
.2	Traffic Control Adjust Survey Monument Cover to Grade 4" Depth Dig Outs 6' Wedge Grind Hot Mix Asphalt - Leveling Course 2" Hot Mix Asphalt Overlay 4" Striping (White) - Thermoplastic 4" Hatch (White) - Thermoplastic Sharrow Legend - Thermoplastic ADA Parking Striping - Caltrans A90A - Thermoplastic Red Curb - Paint Detail 22 Striping - Paint 4" Striping (White)-Paint ADA Parking Striping - Caltrans A90A - Paint 4" Hatch (White) - Paint Type I 18' Arrow Legend - Paint Type IV Arrow Legend - Paint STOP Legend - Paint ONLY Legend - Paint Total	1 L.S. 1 Ea. 600 S.F. 600 L.F. 100 Ton 240 Ton 1550 L.F. 20 L.F. 32 Ea. 1 Ea. 30 L.F. 60 L.F. 7550 L.F. 11 Ea. 240 L.F. 14 Ea. 2 Ea. 2 Ea. 2 Ea.		\$30,000.00 \$600.00 \$6.80 \$2.15 \$200.00 \$165.00 \$2.20 \$2.20 \$275.00 \$550.00 \$3.20 \$2.20 \$1.10 \$110.00 \$1.10 \$55.00 \$55.00 \$55.00 \$55.00	\$600.1 \$4,080.1 \$1,290.1 \$20,000.1 \$3,410.1 \$44.1 \$8,800.1 \$550.1 \$96.1 \$132.1 \$264.1 \$770.1 \$110.1
2.2 2.3 2.4 2.5 2.6 2.7 2.8 2.9 2.10 2.11 2.12 2.13	Traffic Control Adjust Survey Monument Cover to Grade 4" Depth Dig Outs 6' Wedge Grind Hot Mix Asphalt - Leveling Course 2" Hot Mix Asphalt Overlay 4" Striping (White) - Thermoplastic 4" Hatch (White) - Thermoplastic Sharrow Legend - Thermoplastic ADA Parking Striping - Caltrans A90A - Thermoplastic Red Curb - Paint Detail 22 Striping - Paint 4" Striping (White)-Paint ADA Parking Striping - Caltrans A90A - Paint 4" Hatch (White) - Paint Type I S' Arrow Legend - Paint Type IV Arrow Legend - Paint STOP Legend - Paint STOP Legend - Paint TOtal	1 L.S. 1 Ea. 600 S.F. 600 L.F. 100 Ton 240 Ton 1550 L.F. 20 L.F. 32 Ea. 1 Ea. 30 L.F. 60 L.F. 7550 L.F. 11 Ea. 240 L.F. 14 Ea. 2 Ea. 2 Ea.	Unit Cost	\$30,000.00 \$600.00 \$6.80 \$2.15 \$200.00 \$165.00 \$2.20 \$2.20 \$275.00 \$550.00 \$3.20 \$2.20 \$1.10 \$110.00 \$1.10 \$55.00 \$55.00	\$600.0 \$4,080.0 \$1,290.0 \$20,000.0 \$3,410.0 \$44.0 \$8,800.0 \$550.0 \$96.0 \$132.0 \$264.0 \$770.0 \$110.0 \$110.0